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KMEFHZEXEFDEEEMEIRR >
158 B femrm MR EEH | KLD [EAUE |HTFEFE |CNED (DT H  (BEanE
TSNS 121]  205]  178] 240 173| 330| 162] 151 204| 369
SHEEXET (N 85 67| 102 65| 143 70 62 89| 158
SHEXE2 (N 120|  111] 138] 108| 187 92 89| 115|211
BEXESENNDEEAL 94 79 96 83| 217| 128 69 69| 253
BEZESRI \OBEE 459%| 44.4%| 400%| 480%| 658%| 790%| 457%| 338%| 686%
SHE—EAN 4 7 5 8 47 11 3 10 16
B—EAEE 43%| 89%| 52%| 96%| 21.7%| 86%| 43%| 145%| 63%
PR3 OIF) 0B%| 143%| 49%| 58%| 220%| 92%| 00%| 34%| 39%
<Y —EERIIC K DETEIERIRR >
NEFHT-—ER I5H = VMR DEER | KLD AL [HFIE [ENED [DTH  |Basnt
SHEAL 66 61 60 37| 169 39 38 48 93
AR L= >5-EAAE 7 4 0 11 0 6 0 2 0
EoEABE | 106%| 66%| 00%| 297%| 00%| 154%| 00%| 42%| 00%
BEAR| 113 81| 122 93] 170 95 88 68| 174
BN RS >5-EAAE 1 10 0 9 0 0 15 5 9
EoEABE | 09%| 123%| 00%| 97%| 00%| 00%| 170%| 74%| 52%
SHEAL 16 14 20 19 20 9 8 6 21
= >5-AAE 0 0 2 0 1 2 1 4 0
EoEABE | 00%| 00%| 100%| 00%| 50%| 222%| 125%| 667%| 00%
SHEAL 3 2 10 2 2 1 3 3 10
PRUNEUFT—Y 3y [psa-mas 0 1 0 0 0 0 2 3 0
EoEABE | 00%| 500%| 00%| 00%| 00%| 00%| 66.7%|1000%| 00%
SHEAL 6 22 21 22 36 25 15 71 67
ERIU/NE T =3y [ssa-maa 0 1 0 0 0 20 7 49 0
EoEABE | 00%| 45%| 00%| 00%| 00%| 800%| 46.7%| 690%| 00%
SHEAL 82 70| 112 74] 137 58 58|  113] 176
BUABRES >55-EAAE 0 0 0 0 0 0 0 0 0
EoEABE | 00%| 00%| 00%| 00%| 00%| 00%| 00%| 00%| 00%
SHEAL 1 1 0 1 0 1 0 1 1
SRAAPTETES T3 FEF BRI 8] 8] 8] 8] o) o) o) o) o)
EEABS | 00%|  00% - 00% - 00% -| _00%| 00%
SHEAL 0 0 0 0 0 0 0 0 0
SRADEXT M ELBPTITEE |25m-as 0 o) 0 o) 0 o) 0 0 0
B—EABS - - - - - - - - -
stEA%| 287| 251 345] 248] 534| 228 210 310 542
a5t >5m-EAAE 8 16 2 20 1 28 25 63 9
m-zAme | 28%| 64%| 06%| 81%| 02%| 123%| 11.9%| 203%| 1.7%
(ER30FE) BiFsres|  03%| 13%| 14%| 107%| 00%| 106%| 134%| 192%| 00%
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